

# THE WEIGHTED ELEMENTARY SYMMETRIC MEAN

ZHEN-GANG XIAO AND ZHI-HUA ZHANG

ABSTRACT. We give a definition of the weighted elementary symmetric mean, and obtain a class of inequalities for the same mean.

## 1. INTRODUCTION

**Definition 1.1.** Let  $a = (a_1, a_2, \dots, a_n)$ , where  $a_i, 1 \leq i \leq n$  be non-negative real numbers, and let  $r$  be an integer for  $1 \leq r \leq n$ , then

$$(1.1) \quad e_r = e_r(a) = \sum_{0 \leq i_1, i_2, \dots, i_n \leq 1} \prod_{j=1}^n a_{i_j}^{i_j}$$

is called the  $r$ -th elementary symmetric function of  $a$ , where the sum is over all  $\binom{n}{r}$   $n$ -tuples of non-negative integers with  $i_1 + i_2 + \dots + i_n = r$ , and  $0 \leq i_1, i_2, \dots, i_n \leq 1$ . In addition  $e_0 = 1$ . We note that

$$(1.2) \quad p_r = p_r(a) = \frac{e_r}{\binom{n}{r}},$$

( $r = 0, 1, \dots, n$ ) is called the  $r$ -th elementary symmetric mean of  $a$ .

**Theorem 1.1.** (Newton [1] and Maclaurin [2]) Let  $a = (a_1, a_2, \dots, a_n)$  be a group of  $n$  non-negative real numbers, and  $r$  be an integer with  $1 \leq r \leq n$ , then

$$(1.3) \quad p_r^2(a) \geq p_{r-1}(a)p_{r+1}(a)$$

and

$$(1.4) \quad [p_r(a)]^{1/r} \geq [p_{r+1}(a)]^{1/(r+1)}$$

with both equalities holding if and only if  $a_1 = a_2 = \dots = a_n$ .

The inequality (1.4) can be deduced from (1.3), since

$$p_1^2 p_2^4 p_3^6 \cdots p_r^{2r} \geq (p_0 p_2)(p_1 p_3)^2 (p_2 p_4)^3 \cdots (p_{r-1} p_{r+1})^r$$

gives  $p_r^{r+1} \geq p_{r+1}^r$ , this is equivalent inequality (1.4).

In this article, the weighted  $r$ -th elementary symmetric function and the same mean of  $a$  for the positive weight number  $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_n)$  be defined, the weighted formula of inequalities (1.3) and (1.4) be obtained.

---

*Date:* July 12, 2004.

*1991 Mathematics Subject Classification.* Primary 26D15.

*Key words and phrases.* Symmetric function, symmetric mean, inequality, elementary proof, weighted.

This paper was typeset using  $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$ .

## 2. MAIN RESULTS

**Definition 2.1.** Let  $a$  be a group of  $n$  non-negative real numbers,  $\lambda$  be a group of  $n$  positive weighted numbers, and  $r$  be an integer for  $1 \leq r \leq n-1$ , then

$$(2.1) \quad e_r(a, \lambda) = \sum_{0 \leq i_1, i_2, \dots, i_n \leq 1}^{i_1 + i_2 + \dots + i_n = r} \left( \sum_{k=1}^n \lambda_k - \sum_{j=1}^r \lambda_{i_j} \right) \prod_{j=1}^n a_{i_j}$$

is called the  $r$ -th weighted elementary symmetric function of  $a$  for the positive weight  $\lambda$ , where the sum is over all  $\binom{n}{r}$   $n$ -tuples of non-negative integers with  $i_1 + i_2 + \dots + i_n = r$ , and  $0 \leq i_1, i_2, \dots, i_n \leq 1$ . In addition we have  $e_0(a, \lambda) = \sum_{i=1}^n \lambda_i$ . And the  $r$ -th weighted elementary symmetric mean of  $a$  for the positive weight  $\lambda$  is defined by

$$(2.2) \quad p_r(a, \lambda) = \frac{e_r(a, \lambda)}{\binom{n-1}{r} \sum_{i=1}^n \lambda_i}$$

( $r = 0, 1, \dots, n-1$ ).

To prove the following Theorem 2.1, the following lemma [3] will be used.

**Lemma 2.1.** if the real polynomials of  $n$ -order

$$(2.3) \quad f(x) = \sum_{i=0}^n c_i x^i$$

which have only real roots, and  $c_i = \binom{n}{i} d_i$ , ( $1 \leq i \leq n$ ), then

$$(2.4) \quad d_i^2 - d_{i-1} d_{i+1} \geq 0 \quad (i = 1, 2, \dots, n-1),$$

over and above  $x_1 = x_2 = \dots = x_n$ , the equality (2.4) be rigorous. Where  $x_i$  ( $1 \leq i \leq n$ ) are the real roots of the polynomials (2.3).

**Theorem 2.1.** Let  $a = (a_1, a_2, \dots, a_n)$  be a group of  $n$  non-negative real numbers,  $\lambda$  is a group of  $n$  positive weighted, and let  $r$  be an integer,  $1 \leq r < n-1$ , then

$$(2.5) \quad p_r^2(a, \lambda) \geq p_{r-1}(a, \lambda) p_{r+1}(a, \lambda)$$

and

$$(2.6) \quad [p_r(a, \lambda)]^{1/r} \geq [p_{r+1}(a, \lambda)]^{1/(r+1)}$$

with both equalities holding if and only if  $a_1 = a_2 = \dots = a_n$ .

*Proof.* Set a polynomials

$$(2.7) \quad f(x) = \sum_{i=1}^n \lambda_i \prod_{\substack{j=1 \\ j \neq i}}^n (a_j + x) = \sum_{i=0}^{n-1} c_i x^i$$

In addition  $p_0(a, \lambda) = 1$ , and if  $1 \leq i \leq n-1$ , then we have

$$c_i = \binom{n-1}{n-i-1} \left( \sum_{j=1}^n \lambda_j \right) p_{n-i-1}(a; \lambda) = \binom{n-1}{i} \left( \sum_{j=1}^n \lambda_j \right) p_{n-i-1}(a; \lambda)$$

Let  $0 < a_1 \leq a_2 \leq \dots \leq a_n$ , then we have

$$f(-\infty) \begin{cases} > 0, & \text{if } n \text{ be a even number,} \\ < 0, & \text{if } n \text{ be a odd number,} \end{cases}$$

$$\begin{aligned}
f(-a_1) &= \lambda_1 \prod_{j=2}^n (a_j - a_1) \geq 0, \\
f(-a_2) &= \lambda_2 (a_1 - a_2) \prod_{j=3}^n (a_j - a_2) \leq 0 \\
f(-a_2) &\leq 0, f(-a_3) \geq 0, \dots, \\
f(-a_n) &\begin{cases} > 0, \text{ if } n \text{ be a even number,} \\ < 0, \text{ if } n \text{ be a odd number,} \end{cases}
\end{aligned}$$

and  $f(+\infty) > 0$ . That is polynomials (2.3) which have  $(n-1)$ 's roots in the real set  $\mathbf{R}$ . If  $x_i (1 \leq i < n)$  be the real roots of the polynomials (2.3), and let  $x_1 \leq x_2 \leq \dots \leq x_{n-1}$ , then

$$-a_n \leq x_1 \leq -a_{n-1} \leq x_2 \leq \dots \leq -a_2 \leq x_{n-1} \leq -a_1$$

and

$$(2.8) \quad f(x) = \sum_{i=1}^n \lambda_i \prod_{\substack{j=1 \\ j \neq i}}^n (a_j + x) = \left( \sum_{i=1}^n \lambda_i \right) \prod_{i=1}^{n-1} (x - x_i)$$

From Lemma 2.1, we have

$$\left[ \left( \sum_{j=1}^n \lambda_j \right) p_{n-i-1}(a; \lambda) \right]^2 - \left[ \left( \sum_{j=1}^n \lambda_j \right) p_{n-i-2}(a; \lambda) \right] \left[ \left( \sum_{j=1}^n \lambda_j \right) p_{n-i}(a; \lambda) \right] \geq 0$$

i.e.

$$p_{n-i-1}^2(a; \lambda) \geq p_{n-i-2}(a; \lambda) p_{n-i}(a; \lambda) \quad (1 \leq i \leq n-1).$$

That is the inequality (2.5), with equality holding if and only if  $(n-1)$ 's real roots  $x_i (1 \leq i < n)$  of the polynomials (2.3) be equal, or  $x_1 = x_2 = \dots = x_{n-1}$ , and  $a_2 = a_3 = \dots = a_{n-1}$ , therefore

$$(2.9) \quad f(x) = \left( \sum_{i=1}^n \lambda_i \right) (x - x_1)^{n-1}$$

and

$$(2.10) \quad f(x) = \sum_{i=1}^n \lambda_i \prod_{\substack{j=1 \\ j \neq i}}^n (a_j + x) = \left( \sum_{i=0}^n \lambda_i \right) (a_2 + x) \left( \frac{\lambda_1 a_n + a_2 \sum_{j=2}^n \lambda_j + \lambda_n a_1}{\sum_{i=2}^n \lambda_i} + x \right)$$

From (2.9), (2.10) and  $a_2 = -x_1$ , we have

$$a_2 = \frac{\lambda_1 a_n + a_2 \sum_{j=2}^n \lambda_j + \lambda_n a_1}{\sum_{i=1}^n \lambda_i}$$

that is

$$(2.11) \quad \lambda_1 (a_2 - a_n) + \lambda_n (a_2 - a_1) = 0.$$

Pay attention to arbitrary  $\lambda_1, \lambda_n$ , the equality (2.11) is true, therefore  $a_1 = a_n = a_2$ . That be said the inequality (2.5) with equality holding if and only if  $a_1 = a_2 = \dots = a_n$ . The proof of inequality (2.5) is completed.

We may discuss the inequality (2.6) in the same way as in the part 1 that proof of the inequality (2.5).  $\square$

Let  $\lambda_1 = \lambda_2 = \cdots = \lambda_n$ , then the inequalities (2.5) and (2.6) become the inequalities (1.3) and (1.4), respectively.

### 3. CONCLUDING REMARKS

R.E.Muirhead in [4] and A.E.Jolliffe in [5] respectively obtained the following two identities (3.1) and (3.2):

**Theorem 3.1.** *If  $p_r$  be the  $r$ -th elementary symmetric means of  $a$ , then the following identity holds*

$$(3.1) \quad p_r^2 - p_{r-1}p_{r+1} = \frac{1}{r(r+1) \binom{n}{r} \binom{n}{r+1}} \sum_{k=0}^{n-1} \binom{2k}{k} \frac{(k, k)}{k+1}$$

where

$$(k, k) = \sum \left( \prod_{j=1}^{r-k-1} a_j^2 \right) \left( \prod_{j=r-k}^{r+k-1} a_j \right) (a_{r+k} - a_{r+k_1})^2$$

the summation extending over all such products obtainable from  $a_1, a_2, \dots, a_n$ .

**Theorem 3.2.** *If  $p_r$  be the  $r$ -th elementary symmetric means of  $a$ , then the following identity holds*

$$(3.2) \quad \left[ \frac{n!}{(r-1)!(n-r-1)!} \right]^2 (p_r^2 - p_{r-1}p_{r+1}) \\ = (n-1) \sum (a_1 - a_2)^2 (c_{r-1}^{n-2})^2 + \frac{2!(n-3)}{(r-1)(n-r-1)} \sum (a_1 - a_2)^2 (a_3 - a_4)^2 (c_{r-2}^{n-4})^2 \\ + \frac{3!(n-5)}{(r-1)(r-2)(n-r-1)(n-r-2)} \sum (a_1 - a_2)^2 (a_3 - a_4)^2 (a_5 - a_6)^2 (c_{r-3}^{n-6})^2 + \cdots$$

where  $c_{r-1}^{n-2}$  is the sum terms of the product  $r-1$  numbers of  $n-2$  number  $a_k$  which differs from  $a_1, a_2$ ; similarly,  $c_{r-2}^{n-4}, c_{r-3}^{n-6}, \dots$  can be obtained, from these.

We conclude the paper by asking: please find an identity for the  $r$ -th weighted elementary symmetric mean similarly identities (3.1) and (3.2).

### REFERENCES

- [1] I.Newton: *Arithmetica universalis: sive de compositione et resolutione arithmetica liber*, 1707.
- [2] C.Maclaurin: *A second letter to Martin Folkes, Esq.; concerning the roots of equations, with the demonstration of other rules in algebra*, Phil. Transactions 36(1729), 59-96.
- [3] E.F.Beckenbach and R.Bellman: *Inequalities*. 2<sup>nd</sup> ed., Berlin Heidelberg-New York, 1965.
- [4] R.E.Muirhead: *Inequalities relating to some algebraic means* Proceedings Edinburgh Math. from Educ. Times (2),1(1901),36-45.
- [5] A.E.Jolliffe: An identity connected with a polynomial algebraic equation. Journ. London Math.Soc. 8(1933),8285.

(Zh.-G. Xiao) DEPARTMENT OF MATHEMATICS, HUNAN INSTITUTE OF SCIENCE AND TECHNOLOGY, YUEYANG, HUNAN 423400, P.R. CHINA.

*E-mail address:* xiaozg@163.com

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU, HUNAN 423400, P.R. CHINA.

*E-mail address:* zxzh1234@163.com